8.4 Solving Exponential Equations

PRACTICE

Directions: Solve the equation with a graphing calculator. Round to the nearest thousandth.
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Directions: Solve the equation. Give the EXACT and APPROXIMATE (to nearest thousandth) answers.
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15) At his wedding Mr. Kelly had a statue of the Algebros made of ice. He estimated

at every 4 days half of the weight of the

ice sculpture has melted. Howymany days until 10% of the sculpjwfg is left? &-:.!Ub‘lb
y:c\xo |°3-<"\:'°5"”§‘ 1
Ny N = 1010
Jo =1 ( ‘3 .
__\'H) 7,3% K

16) Mr. Bean collects crickets. He has ten crickets &u\r_r_en yan
it take for his \rfi;;ket population to reach 500? <16 - 3
\’ T =5bb

pulation is tripling every 2 weeks. How long will

T
S'&: I_D (’h \oghsb: \OS—?D
/7o ’S X[z |°¢338b < \‘IL
S’b ~ (5 a r_L' -:'\</l
o1 T




